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4,3—3,5-59x%x3,8=

4% 4,7+2+6,4=

5J4+ 5)8 - 5)2 x 4,4 =

3)6_24X2)9_4:

318 - 2)3 + 6)5 X 674 =

Aagull NGBS

6,8—36%x6,9+6=

6)4 - 2)3 + 6)4 X 473 =

6X 3)7_2+4)2:

4,7+ 4,8—54x%x 2=

2_5)3_3)1X2)4:

www.snowmath.com



https://www.snowmath.com

Slleall i i ¢ Ay pdie ) suS )|

RN e

=
{sHoPL MM m e
e Ez ==

4,3—-3,5-5,9x3,8=-21.62

4%x4,7+2+6,4=15.8

5)4+ 578_ 5)2 x 4,4 = _1168

3:6-24x29+4=-138

3,8—2,3+6,5x64=43.1

6,8—36x6,9+6=-34.6

6,4—2,3+6,4%x4,3=231.62

6x3,7+2+42=153

4)7+ 4)8_514 X 2= _13

2-53-3,1x24=-10.74

www.snowmath.com


https://www.snowmath.com

